Unknown Symbols in Equations (A)

Name: Date:

Determine the value of each symbol.

15=0+6 133 +-19=1
96 = 16 = § 8 =152+ %
72 +-18 =& 19+-o=1
t=1=10 4=1f+12
9=1-+4 90 -4 =9
8=0+14 81+-4=9
14 +-7=U 240 - 12 =v
e =104+ 13 16 =304 - &
70 = =7 36 - 18 = @
Q=13 =4 36 18 = A
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Unknown Symbols in Equations (A) Answers

Name: Date:

Determine the value of each symbol.

15=0-+6 133 +-19=N
© =90 m-=7

96 = 16 = 8 =152 + %
§ = Y = 19

72 -18 =& 19+-g=1
t+1=10 4 =0-+12

t =10 1 = 48
9=1+4 90 = ¢ =
=36 ¢ =10
8=0-=-14 81+« =

O =112 £ =

14 -7 =U 240 =12 =v
o =104 =13 16 = 304 = &
e =28 & =19

70 -0 =7 36 -18=
O =10 D =

® =13 = 4 36 18 = A
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